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QUESTION 1

In which three scenarios is a Create Session Request sent to the SGW? (Choose three.)
A. Gn/Gp SGSN to S4 SGSN routing area update

B. Gn/Gp SGSN to MME tracking area update procedure

C. UE requested PDN connectivity

D. UE triggered service request

E. ready to STANDBY transition within the network

F. network triggered service request procedure

Correct Answer: ABC

QUESTION 2

‘ Drag and arrange the steps on the left in the correct order on the right that indicates how DPC+ SSN based routing in SGSMN is performed on the Cisco ASR 5000,

S57 routing domain from the SCCP networ< is picked and point code in the 857 D is First
available
SCCP network inthe map-senice Second
88N service state is in-sewice in the SCCP retwork Trird
CPCin the SCCP network is accessiblz Foarth

Select and Place:

Drag and arrange the steps on the left in the correct order on the right that indicates how DPC+ SSN based routing in SGSM is performed on the Cisco ASR 5000,

557 routing domain from the SCCP networe is picked and peint code in the S57 D is First
available
SCCP network inthe map-service Second
SSN service state is in-sewvice in the SCCP retwork Trird
CPCin the SCCP network is accessiblz Foarth

Correct Answer:
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Drag and arrange the steps on the left in the correct order on the right that indicates how DPC+ SSN based routing in SGSN is performed on the Cisco ASR 5000,

SCCP network ir the map semvice

557 routing domain from the SCCP network is picked and point code inthe S57TRD s
avaiable

DPCinthe SCCP network is accessible

S5N semvice state is in-service in the SCCP network

QUESTION 3

What two routing keys can be used to filter SS7 messages? (Choose two.)
A. DPC

B. DPC [+SSN]

C. IMEI

D. MSISDN

E. IMEISV

Correct Answer: AB

QUESTION 4

Which option describes how the Diameter relay agent routes messages to Diameter servers?
A. based on IP address

B. based on destination realm

C. based on application used (Gx, Gy)

D. based on source realm

Correct Answer: B

QUESTION 5
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Which two nodes are introduced as part of UMTS as defined by 3GPP standards? (Choose two.)

A. SGSN
B. GGSN
C.RNC
D. VLR
E. NodeB
F. VLR

Correct Answer: CE
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